

## AS LEVEL SPECIFICATION FURTHER MATHEMATICS A MARK SCHEME 1

1) 
$$\alpha = -3 + 2i$$
 $\beta = -3 - 2i$ 
 $\beta = -3 - 2i$ 
 $\beta = -3 - 2i$ 
 $\beta = -6$ 
 $\beta = -6$ 
 $\beta = -6$ 

So  $\beta + \beta + \beta + 1 = -5$ 
 $\beta = -6$ 
 $\beta = -6$ 

For 
$$n=2$$
,  
 $4x(-3)^2 + 5^2$   
= 36+25  
= 61, so true For  $n=2$ .

Assume time for n=k and n=k+1, so  $U_k = 4(-3)^k + 5^k \text{ and } U_{k+1} = 4(-3)^{k+1} + 5^{k+1} = 1$ 

Then

$$U_{ktz} = 2u_{k+1} + 15u_{k}$$

$$= 8(-3)^{k+1} + 2(5)^{k+1} + 60(-3)^{k} + 15(5)^{k}$$

$$= 8(-3)^{k+1} + 2(5)^{k+1} + -20(-3)^{k+1} + 3(5)^{k}$$

$$= -12(-3)^{k+1} + 5(5)^{k+1}$$

$$= 4(-3)^{k+2} + 5^{k+2}$$
A1

So true for n=k+2.

True for n=1 and n=2, and if true for n=k and n=k+1, then true for n=k+2. So true H k e I by induction Al

3) i) 
$$\lim_{t\to\infty}\int_0^t \frac{1}{1tx^2} dx$$

So it is convergent.

(i) 
$$\lim_{t\to 0} \int_{-1}^{t} dx + \lim_{u\to 0} \int_{u}^{1} dx$$
 M]
$$= \lim_{t\to 0} \left[ \ln |x| \right]_{u}^{t} + \lim_{u\to 0} \left[ \ln |x| \right]_{u}^{t}$$

which does not exist, so the integral is not convergent. Al

$$= \lim_{N \to \infty} \left[ \frac{3}{2} \right]_{2}^{2} + \lim_$$

$$=\frac{1}{1} \frac{1}{10} \left[ \frac{3}{2} x^{2/3} \right]_{0}^{8}$$
 M)

So it is convergent.

4) i) cosht 
$$\frac{dN}{dt} = \sinh^{\frac{2}{3}}(\sinh^{\frac{2}{3}}\cosh t - N)$$

$$\Rightarrow \frac{dN}{dt} + tanht N = sinh^4t M$$

$$N(0) = 0.5 \implies c = 0.5$$

(i) The model predicts the population will grow without bound. B)

MI 5 i) cos(60) = Re [(coso + isino))

> = cos60 - (6) cos405/n20 + (6) cos205/n40 - 5/n60 Al = cos60 - 15 cos60(1-cos0) + 15cos20(1-cos20)2 - (1-cos20)3 MI = cos60 -15cos40 + 15cos60 + 15cos60 -30cos40 + 15cos60 + cos60 -3cos40 +3cos20 -1 M)

= 320050 -4800540 +180050-1 A]

(i)  $\frac{1}{2}(32x^{6}-48x^{6}+18x^{2}-1)=\frac{1}{4}$  M) set  $x = \cos \theta$  $\implies \cos 60 = \frac{1}{2} \quad A1$ 

 $\Rightarrow 60 = \frac{60}{3}, \frac{56}{3}, \frac{76}{3}, \frac{110}{3}, \frac{130}{3}, \frac{170}{3}, \frac{170}{3}, \frac{110}{3}$   $0 = \frac{60}{18}, \frac{50}{18}, \frac{70}{18}, \frac{110}{18}, \frac{130}{18}, \frac{170}{18}, \frac{170}{18}, \frac{170}{18}$   $\times \frac{5000}{18}, \frac{50}{18}, \frac{700}{18}, \frac{100}{18}, \frac{130}{18}, \frac{170}{18}, \frac{170}{18}, \frac{170}{18}$   $\times \frac{5000}{18}, \frac{500}{18}, \frac{700}{18}, \frac{100}{18}, \frac{130}{18}, \frac{170}{18}, \frac{170}{18}, \frac{100}{18}, \frac{170}{18}, \frac{170}{18},$ 

6) 
$$2 + \cos 60 = 2$$
 $\Rightarrow \cos 60 = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot 3\pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow o = \pi_{12} \cdot \dots \cdot A1$ 
 $\Rightarrow$ 

$$= 3 \left[ \frac{1}{2} 0 - \frac{1}{24} 8 8 120 - \frac{2}{3} 5 \frac{1}{6} 6 0 \right]_{H/12}^{3T/12}$$

$$= 3 \left[ \left( -\frac{3\pi}{24} - 0 + \frac{2}{3} \right) - \left( -\frac{\pi}{24} - 0 - \frac{2}{3} \right) \right] + 1$$

$$= 3 \left( \frac{4}{3} - \frac{\pi}{12} \right)$$

$$= 4 - \frac{\pi}{2} \qquad A$$

7. i) 
$$f(z) = e^{-x^2}$$
 $f'(x) = -2xe^{-x^2}$ 
 $f''(x) = e^{-x^2}(4x^2 - 2)$ 
 $f'''(x) = e^{-x^2}(8xe^2 - 2x)8xe$ 
 $f'''(x) = e^{-x^2}(8xe^2 - 2x)8xe$ 
 $f'''(x) = e^{-x^2}(-8x^3 + 12x)$ 
 $= e^{-x^2}(-8x^3 + 12x) - 24x^2 + 12$ 
 $= e^{-x^2}(-16x^4 - 48x^2 + 12)$ 
 $f(0) = 1$ 
 $f'(0) = 0$ 
 $f'''(0) = -2$ 
 $f'''(0) = 0$ 
 $f'''(0) = -2$ 
 $f''''(0) = 0$ 
 $f''''(0) = 1$ 
 $= 1 - x^2 + \frac{x^4}{2} + \dots$  MI Al

 $f'''(0) = 1$ 
 $= 1 - x^2 + \frac{x^4}{2} + \dots$  MI Al

 $f'''(0) = 1$ 
 $= 1 - x^2 + \frac{x^4}{2} + \dots$  MI Al

 $f''''(0) = 1$ 
 $= 1 - x^2 + \frac{x^4}{2} + \dots$  MI Al

 $= [x - \frac{1}{3}x^2 + \frac{x^5}{10}]^{\frac{1}{3}}$ 
 $= 1 - \frac{1}{3} + \frac{1}{10}$ 
 $= \frac{23}{2}$ 

Al

(ii) The approximation is only valid for small values of z.

8. (3) is perpendicular to plane.

a water

$$m\left(\begin{pmatrix} -3\\2\\3 \end{pmatrix} + \lambda \begin{pmatrix} -3\\2\\5 \end{pmatrix} \right) \begin{pmatrix} 2\\-3\\1 \end{pmatrix} \neq 2$$

$$\begin{pmatrix} 1 + 2\lambda \\ 5 - 3\lambda \\ 1 + \lambda \end{pmatrix} \cdot \begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix} = 2 \qquad M$$

$$\Rightarrow \lambda = |M|$$
 meets place at  $E = \begin{pmatrix} 3 \\ -2 \\ 2 \end{pmatrix}$ 

so 
$$D = \begin{pmatrix} 1 \\ 5 \end{pmatrix} + 2\begin{pmatrix} 3 \\ -3 \end{pmatrix} = \begin{pmatrix} 5 \\ -1 \\ 3 \end{pmatrix}$$
. A1

$$\begin{pmatrix} -3 \\ -3 \\ -3 \end{pmatrix} \cdot \begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix} = Z$$

$$\Rightarrow$$
  $\lambda = 3$  Meets place at  $F = \begin{pmatrix} 3 \\ 1 \end{pmatrix}$ 

So 
$$C = \begin{pmatrix} -3 \\ 10 \\ -4 \end{pmatrix} + 6\begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix} = \begin{pmatrix} -8 \\ 2 \end{pmatrix}$$
. All

So 
$$|AD| = \sqrt{4^2 + 6^2 + 2^2}$$
  $|EF| = \sqrt{6^2 + 1^2 + 3^2} MI$   
 $= \sqrt{56}$   $= \sqrt{10}$   
 $= 2\sqrt{14}$   $MI$  So  $area = \frac{1}{2}(2\sqrt{14 + 6\sqrt{14}})\sqrt{16} MI$   
 $|BC| = \sqrt{12^2 + 18^2 + 6^2}$   $AI$   $= 4\sqrt{140}$   
 $= \sqrt{504}$   $= 8\sqrt{35}$   $AI$ 

$$|Bc| = \sqrt{12^{2} + 18^{2} + 6^{2}} \quad A1 = 4\sqrt{140}$$

$$= \sqrt{504} \quad = 8\sqrt{35} \quad A1$$

$$= 6\sqrt{14}$$

9) () 
$$\frac{dx}{dt} = 3x - 15y$$
 =)  $y = \frac{1}{5}x - \frac{1}{15}\frac{dx}{dt}$   
 $\frac{dy}{dt} = 6x - 3y$  =)  $y = \sqrt{2x}x^{2}x$ 

$$\frac{d^2x}{dt^2} = \frac{3dx}{dt} - \frac{15dy}{dt} \implies \frac{dy}{dt} = \frac{1}{5}\frac{dx}{dt} - \frac{1}{15}\frac{d^2x}{dt^2} = \frac{1}{15}\frac{dx}{dt} = \frac{1}{1$$

$$\Rightarrow 3\frac{dx}{dt} - \frac{d^2x}{at^2} = 6.90x - 9x + 3\frac{dx}{dt}$$

$$\Rightarrow \frac{d^2x}{dt^2} + 81x = 0 \qquad A1$$

$$y = \frac{1}{5}x - \frac{1}{15} \frac{dx}{dx}$$

$$= \frac{A}{5}\cos 9t + \frac{B}{5}\sin 9t + \frac{9}{15}A\sin 9t - \frac{9}{15}B\sin 9t M$$

$$= \left(\frac{A-3B}{5}\right) \cos 9t + \left(\frac{B+3A}{5}\right) \sin 9t \quad A$$

So both particles undergo StIM.

$$(1)$$
  $(2)$  =0  $\Rightarrow$  A=0  
 $(1)$   $(2)$  =90  $\Rightarrow$  9B=90  $\Rightarrow$  B=10 MI

so 
$$3c = 10\sin 9t$$
  
 $y = -6\cos 9t + 2\sin 9t$  A1

$$\Rightarrow$$
 tan9t =  $^{-3}/_{4}$  M1

ton91=-34 => 5/n91=3/5 So x=y= 10x 3 M) = 6 cm From the origin in the positive direction. A)